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Instructions to Q«@M@h&%@a
1) i@? 02,03 0r Q4,05 0r 0.6, 0.70r 0.8, Q.9 or Q.10.
2) Neat z\&SNSSm must be drawn wherever necessary.
3) Fi @5&28 the right indicate full marks.
4) h&ﬁa« suitable data, if necessary.
Q1) a) nosmam_. a database used to 88& &a Bm%w mﬁﬁ students get in different
exams of different course offeri ﬁm :
Construct an E-R diagram EWw Somnw exams as entities, and uses a
ternary relationship, for ﬁm g<@%§wmn [5]
b) For the database m%mﬂoésm@ do ﬁmgm it must retrieve data efficiently.
The need of ammoﬁgvewmw EA designers to use complex data structures
to represent data in the; Sﬁm,mn Developers hides this complexity from
the database system :%ﬁ@nocm: several levels of abstraction. Explain
those levels of mcﬁmmmg in detail. Amm_
7 OR
02) a) Construct an alternative E-R diagram for above re ﬁwwwgoﬁm given in
Q.1(a) that uses only a binary relationship caganbﬁa%ﬁga course-
offerings. Make sure that only one relationship ex; ﬁmwa@m?ﬁnm aparticular
student and course-offering pair, yet you can n&.ﬁmgﬁro marks that a
student gets in different exams of a course @%wmzsm ; [5]
»
b)  Write PL/SQL trigger for following anc\ﬁ@ﬁwa g [5]

¥
s s«\

Event: Deletion of row from stud(roll{1 so, nmum class) table.

Action: after deletion of values from mEa vam. values should be inserted
into cancel_admission( roll_no, name) table.

Note: for every row to be deleted, mom.ww should be performed.

70/\ ~20) ﬂ.\l

[Max. Marks : 70°

03) 3

b)

Q4) a)
b)

05) )

Consider insurance database with following schema : 5l

person(driver-id, name, address),

car(license, model, year)
accident (report - Jno, date, /Enmaozv

oi:ﬁ%ﬁ?@#gw&
y@&\w
ﬁmna%&a&,&@o?ﬁvoﬁ report-no,damage-amount)
%
Write a ﬁamw in m&h for following requirements (any 2) :

c m_:&wog_ :oomvnomznsrooisnaoﬁﬁgnsoaE<oi_=
\mﬁ%% in2016.

&ﬂiﬂnﬁ&ﬁ the name of person whose address contains Pune.

O
iii) m Ea the name of persons having more than o cars.

>a¥ %Ecwmo system to be good relational da gmo system, coddshave

proposed 12 rules, explain any 2 Emm.wwﬁovom& .& codd with example.[S]

What is normalization? iwﬁ m&,ﬁ :aofm om normalized database? [5]
The organization has %cﬁ@& to i inérease the mm_wQ of employees by
10% of existing m&mQ}sxowm %&mgm salary is less than Rs. 10000/
Write a PL/SQ block.to; cﬁamﬁw the salary as per above requirement,
display an %@83@% m?nmww,mo based on the no. of rows affected by
this update (using _Bﬁ:os .eursor status variables). mu_

f &

Consider the ,Sm:mmgos (T3), Transaction (T4) m:a%w;mﬁ% {T6)
are any hypothetical transactions working on %Sl Q/M&Em
explaining the execution of T3, T4 and T6 are m:&z_uw W, Ummaa whether
following schedule is conflict serializable or =oﬂfﬂ¢wﬁ@%,@ﬁ answer.[9]

A, rfw m;x
i |
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read (Q)

Write (Q)
%/.w..%n:a ©
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